Quadratic Practice with Midsegments PAP Name

1) In ATRA, ZO is a midsegment. If T4 =6x"+3x—2 and ZO=2x'—x+5,
then what 1s length of Z0 .

R

2) In ATRA, ZO is a midsegment. If TA=3x*—~3x—42 and ZO = x* - 2x—6,
then what is length of T4,

3) In ATRA, 70 1 a midsegment, If 74 =5x"~6x-8 and ZO=x"-2x+4,
then what is length of ZO .

A




4) In ATRA, Z0 is a midsegment. If T4=3x>+4x—-10 and ZO=x"—x+3,
then what is length of 74,

T

5) In ATRA, 70 1s a midsegment. If 74=3x>+14x—44 and ZO=x"+2x-10,
then what is length of 20 .

R

6) In ATRA, ZO is a mudsegment, If T4 =10x*+2x-5 and ZO =x" +2x~1,
then what is length of Z0.

A T
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Coordinate Geometry L L
15) Find the length of BC if BC||DE and DE is a midsegment, of AABC .

CG, EH, and FJ are midsegments of AABD, AGCD, and AGHE , respectively.
A

16) CG
17 EH
18) HJ
19) m£DCG

20) m£GHE

Find each measure,

21) msEJH

24} The diagram shows the sketch for a new street. Parallel parking spaces
will be painted on both sides of the street. Each parallel parking space is

23 feet long. About how many parking spaces can the city accommodate

on both sides of the new street? Explain your answer.

Find the value of n.

25) a 26) x\Q
g

an

Market street (440 ft)
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The lengths of twe sides of a triangle are given ( you may want to represent the third side with ®x™),
Write and solve an thequality to determine the possible lengths of the third side. Then write an inequality
that represents the range of the possible values for the third side.

22) 3and 5 23) 4and 17
24) 10and 15 25) 37 and 37
Use the figure at the right to answer questions 35-38. The msM7L = 2x? +18. M
(8y +12
26) Name a median . ] g
27) Name an altitude . {10y - 20)
28) Name an angle bisector . - / T N

29) Name an perpendicular bisector
30) x=
31) y=

32) Put the following sides in order from shortest o longest (it may help to draw a triangle}.

msA=12x -9 shortest side
msB =62-3x side
msC =16x +2 longest side
R
33) Use the figure at the right to answer questions.
8 44°N\ g
What is wrong with the triangle?
How can It be fixed by changing one thing? If so, then what? M 60° 53° T
10
M IFHI =8y — 2and DF = 2x + 11, 35) Find the missing points
, what is A7 . a2
4 a7
Alo, & 21,7
o £
A
g # / 81, 0)
A
36) In ATRA4, ZO is a midsegment, If T4 =5x>—6x~§ and 5
Z0 = x* —2x+4 , then what is length of ZO,
R




